APPENDIX 1

MONT BELVIEU PROPANE FUTURES - 03/09/17 CLOSE

Mont Belvieu LDH Propane (OPIS) Futures Settlements - CME Group

.

Ċ

1.4

AUG 17 -

.

SEP 17

OCT 17

NOV 17 -

Page 1 of 3

	Vont Belvieu LDH Propane (OPIS) Futures Settlements					View Another Product			
Quotes	Settlem		/olume	Time & Sales	Co	entract Spee	cs Margins	Calendar	
Futu	ires	Options					na ka na na kata kata ka	internet of the provides.	
Trade	Date: T	teres and the second			· · · · ·				
	Date. I	nursday, i	09 Mar 2	017 (Final)	♥ '				
	Date.	nursday, i	09 Mar 2	017 (Final)					
All marke				·····	bsite s	hould be co	onsidered as a	a reference	
only and	et data co should no	ntained w	ithin the as valid	CME Group we	or as a	a compleme	ent to, real-tim	e market	
only and data feed web use	et data co should no ds. Settler rs only an	ntained w ot be used ment price d are not	ithin the as valid	CME Group we	or as a t open	a compleme interest or	nt to, real-tim volume are p	e market ovided for	
only and data feed web use	et data co should no	ntained w ot be used ment price d are not	ithin the as valid	CME Group we lation against, n	or as a t open	a compleme interest or	nt to, real-tim volume are p	e market ovided for	
only and data feed web use	et data co should no ds. Settler rs only an	ntained w ot be used ment price d are not	ithin the as valid	CME Group we lation against, n truments withou d on Market Da	or as a t open	a compleme interest or	nt to, real-tim volume are p	e market ovided for	
only and data feed web use based or	et data co should no ds. Settler rs only an n market a	ntained w ot be used ment price d are not activity.	ithin the d as valid s on inst publishe	CME Group we lation against, n truments withou d on Market Da Last C	or as a t open ta Plat	a compleme interest or form (MDP)	ent to, real-tim volume are pr). These price Estimated	e market rovided for s are not Prior Day Oper	
only and data feed web use based or Month	et data co should no ds. Settler rs only an n market a	ntained w ot be used ment price d are not activity.	ithin the d as valid s on inst publishe	CME Group we lation against, n truments withou d on Market Da Last C	or as a t open ta Plat hange	a compleme interest or form (MDP) Settle	ent to, real-tim volume are pi). These price Estimated Volume	e market rovided for s are not Prior Day Oper Interest	
only and data feed web use based or Month MAR 17	et data co should no ds. Settler rs only an n market a	ntained w ot be used ment price d are not activity.	ithin the d as valid s on inst publishe	CME Group we lation against, n truments withou d on Market Da Last C - +.0	orasa topen ta Plat hange	a compleme interest or form (MDP) Settle .64629	ent to, real-tim volume are price). These price Estimated Volume 0	e market rovided for s are not Prior Day Oper Interest 11,920	
only and data feed web use based or Month MAR 17 APR 17	et data co should no ds. Settler rs only an n market a	ntained w ot be used ment price d are not activity.	ithin the d as valid s on inst publishe	CME Group we lation against, n truments withou d on Market Da Last C - +.0 01	or as a t open ta Plat hange 0776 1105	a compleme interest or form (MDP) Settle .84629 .83208	ent to, real-tim volume are price). These price Estimated Volume 0 813	e market rovided for s are not Prior Day Oper Interest 11,92 11,57 7,40	

-.01625

-.01667

-.01730

-.01730

.61750

.62583

.63208

.63833

559

272

370

370

4,91/

5,7%

5,47

5,43!

ENTERPRISE TE PRODUCTS PIPELINE FERC TARIFF 54.36.0 - RATES EFFECTIVE 07/01/16

[D] All rates are decreased.								
ITEM NO. 135 Non-Incentive Rates for Propane								
	Origin							
Destination	Arcadia (Bienville Parish, LA)	Floreffe Junction (Allegheny Co., PA)	Mont Belvieu (Chambers Co., TX)	Tapr (Hi Co Too (Bu Fol (B Cc Co Vi				
Arcadia (Bienville Parish, LA)			218.93	<u> </u>				
Coshocton (Coshocton Co., OH)	625.59		668.30					
Dexter (Stoddard Co., MO)			317.54					
Du Bois (Clearfield Co., PA)	700.18 (1)	358.97 (1)(2)	741.93 (1)	358.				
Finger Lakes (Schuyler Co., NY)	746.68	521.98	788.64	541				
Fontaine (Green Co., AR)			298.33					
Greensburg (Westmoreland Co., PA)	658.42 (1)	358.97 (1)(2)	700.18 (1)	358				
Harford Mills (Cortland Co., NY)		504.39 (1)	791.32 (1)	525.				
Kingsland (Cleveland Co., AR)			253.03	-				
Lebanon (Boone Co., IN)			374.50 (4)					
North Little Rock (Pulaski Co., AR)			266.96					
Oneonta (Otsego Co., NY)		546.01	855.07 (1)	563.				
Princeton (Gibson Co., IN)	376.89		407.65	<u> </u>				
Schaefferstown (Lebanon Co., PA)		529.27 (2)	799.83	522.				
Selkirk (Albany Co., NY)		592.39	909.18 (1)	593.				
Seymour (Jackson Co., IN)			355.85	1				
Sinking Spring (Berks Co., PA)		529.27 (2)	799.83	522.				
Todhunter (Butler Co., OH)	556.12		598.83					
Twin Oaks(Delaware Co., PA)		651.37 (2) (3)		651				
Watkins Glen (Schuyler Co., NY)	708,90 (1)	485.49 (1)	750.86 (1)	507.				
West Memphis (Crittenden Co., AR)	/00:50 (1)	405.45 (1)	317.54 (4)	1				

Northern Gas Transport, Inc. Box 106 Lyndonville, VT 05851-0106 1-800-648-1075 FAX: 802-626-5039

March 7, 2017

To: All Customers

Re: Fuel Surcharge

As of Monday, March 6th, 2017 the Department of Energy New England average price per gallon of diesel fuel was \$2.646. All deliveries invoiced from Sunday, March 12th, 2017 through Saturday, March 18th, 2017 will be line item assessed at 4.5 % fuel surcharge. Thank you and should you have any questions, please contact Susan Noyes at 1-800-648-1075 extension 223.

Best Regards,

Bruce Grant President/Owner

Northern Gas Transport Inc. - Selkirk to Keene

			Fuel			
	Base	Base	Surcharge		Total	Total Rate
Gallons	Rate	Charge	Rate	Surcharge	Charge	Per Gallon
9,200	\$0.0575	\$529.00	1.00%	\$5.29	\$534.29	\$0.0581
9,200	\$0.0575	\$529.00	2.00%	\$10.58	\$539.58	\$0.0587
9,200	\$0.0575	\$529.00	3.00%	\$15.87	\$544.87	\$0.0592
9,200	\$0.0575	\$529.00	3.50%	\$18.52	\$547.52	\$0.0595
9,200	\$0.0575	\$529.00	4.00%	\$21.16	\$550.16	\$0.0598
9,200	\$0.0575	\$529.00	4.50%	\$23.81	\$552.81	\$0.0601
9,200	\$0.0575	\$529.00	5.00%	\$26.45	\$555.45	\$0.0604
9,200	\$0.0575	\$529.00	5.50%	\$29.10	\$558.10	\$0.0607
9,200	\$0.0575	\$529.00	6.00%	\$31.74	\$560.74	\$0.0610
9,200	\$0.0575	\$529.00	6.50%	\$34.39	\$563.39	\$0.0612
9,200	\$0.0575	\$529.00	7.00%	\$37.03	\$566.03	\$0.0615
9,200	\$0.0575	\$529.00	7.50%	\$39.68	\$568.68	\$0.0618
9,200	\$0.0575	\$529.00	8.00%	\$42.32	\$571.32	\$0.0621
9,200	\$0.0575	\$529.00	8.50%	\$44.97	\$573.97	\$0.0624
9,200	\$0.0575	\$529.00	9.00%	\$47.61	\$576.61	\$0.0627
9,200	\$0.0575	\$529.00	9.50%	\$50.26	\$579.26	\$0.0630
9,200	\$0.0575	\$529.00	10.00%	\$52.90	\$581.90	\$0.0633
9,200	\$0.0575	\$529.00	10.50%	\$55.55	\$584.55	\$0.0635
9,200	\$0.0575	\$529.00	11.00%	\$58.19	\$587.19	\$0.0638
9,200	\$0.0575	\$529.00	11.50%	\$60.84	\$589.84	\$0.0641
9,200	\$0.0575	\$529.00	12.00%	\$63.48	\$592.48	\$0.0644
9,200	\$0.0575	\$529.00	12.50%	\$66.13	\$595.13	\$0.0647
9,200	\$0.0575	\$529.00	13.00%	\$68.77	\$597.77	\$0.0650
9,200	\$0.0575	\$529.00	13.50%	\$71.42	\$600.42	\$0.0653